
Tinc T∗
e θ∗e ε −t θq Pp θpq Pm θmq −u x

MeV MeV deg GeV/c deg MeV/c deg MeV/c deg GeV/c

Q2
nominal = 1.6 GeV2 Wnominal = 2.21 GeV

3772 785.79 43.09 0.328 4.025 -9.534 2936.79 −1.0 310.66 9.17 0.087 0.2855
3.983 2913.20 −3.0 367.17 24.59 0.129

4702 1715.79 25.73 0.5933 4.030 -13.281 2939.53 0.0 303.54 0.09 0.082 0.2855
3.991 2917.79 2.7 356.78 22.93 0.121
3.982 2913.15 −3.0 367.29 24.61 0.129

Q2
nominal = 2.45 GeV2 Wnominal = 2.21 GeV

4210 770.83 51.48 0.270 4.778 -9.190 3355.82 −1.4 431.04 10.57 0.184 0.3796
4.721 3324.12 −3.0 491.15 20.82 0.241

5248 1808.83 29.43 0.554 4.793 -13.606 3363.86 0.0 414.75 0.00 0.169 0.3796
4.721 3324.28 −3.0 490.86 20.79 0.241
4.722 3324.49 3.0 490.47 20.75 0.240


